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QUESTION 1

A customer has finished configuring the zoning on their MDS switch. What would be the result of the following
command? 

zoneset activate name ActiveZS vsan 100 

A. Activates the zoneset named ActiveZS on VSAN 100 

B. Creates the zoneset named ActiveZS on VSAN 100 

C. Creates and activates VSAN 100 

D. VSAN 100 is named ActiveZS 

Correct Answer: A 

 

QUESTION 2

What does the acronym "CHAP" refer to? 

A. Challenge Handshake Authentication Protocol 

B. Challenge Handshake Authorization Protocol 

C. CLARiiON Handshake Authentication Protocol 

D. Consistent Host Application Protocol 

Correct Answer: D 

 

QUESTION 3

A customer has several native devices configured on a Linux server running critical applications. They ask your advice
to ensure the applications will not be disrupted if additional devices are added. What do you recommend? 

A. Use PowerPath psuedo-device names for host applications. 

B. Use DMPIO on the server for host application devices. 

C. Configure the server in failover mode 4 for his applications. 

D. Configure persistent binding for his host application devices. 

Correct Answer: A 

 

QUESTION 4

While installing a B-series DCX 48000 switch it is important to understand which ports use a specific ASIC. A single



ASIC is responsible for how many ports in a DCX 48000 switch? 

A. 24 

B. 12 

C. 18 

D. 48 

Correct Answer: A 

 

QUESTION 5

You are on a customer site to install a CLARiiON array. 

Which utility would you have used to plan your course of action? 

A. CPG 

B. HEAT 

C. SWAT 

D. CAP 

Correct Answer: A 

 

QUESTION 6

You are implementing Unisphere security on a CX4 CLARiiON with FLARE 30. The customer has requested that all
certificates be validated when naviseccli is used. 

What level of certificate validation does EMC recommend be set for naviseccli? 

A. Medium 

B. High 

C. Low 

D. Ignore 

Correct Answer: A 

 

QUESTION 7

What is the maximum number of supported paths per LUN when using ALUA with PowerPath? 

A. 16 



B. 8 

C. 32 

D. 64 

Correct Answer: A 

 

QUESTION 8

Which utility is recommended for the alignment of disks in a Windows 2003 SP2 environment? 

A. diskpart 

B. diskpar 

C. fdisk 

D. format 

Correct Answer: A 

 

QUESTION 9

Which EMC utility should be used to gather information from a Windows host? 

A. EMCReports 

B. EMCGrab 

C. HEAT 

D. SWAT 

Correct Answer: A 

 

QUESTION 10

On a Windows server with PowerPath installed, how is I/O routed to the non-owning SP of a LUN? 

A. I/O is balanced across active optimal paths for a given LUN. 

B. I/O is balanced across active paths using the First In, First Out algorithm. 

C. I/O is sent across all paths using the round-robin algorithm. 

D. I/O load balances across non-optimal paths for a given LUN. 

Correct Answer: A 

 



QUESTION 11

Use the calculator. What is the extent size for a clone LUN of 1024 GB? 

A. 512 KB 

B. 128 KB 

C. 256 KB 

D. 1024 KB 

Correct Answer: A 

 

QUESTION 12

A customer is using the Emulex HBA utility to configure server connections. They want to ensure all initiators and
CLARiiON storage devices will persist should a reboot or configuration change take place. 

Which HBAnyware option allows this? 

A. Target Mappings 

B. General 

C. Adapter Details 

D. Driver Parameters 

Correct Answer: A 
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